
 

 

               Dividing a number by 1, by itself and by 10 
1.  A number divided by 1 stays the same. 
 

     a)      3 ÷ 1 = ______   because  _____ × _____ = _____   

   b)       8 ÷ 1 = ______   because  _____ × _____ = _____       

   b)    12 ÷ 1 = ______   because  _____ × _____ = _____       

2.  A number divided by itself equals 1. 
 

     a)      3 ÷ 3 = _______   because  ______ × ______ = ______   

   b)       8 ÷ 8 = _______   because  ______ × ______ = ______       

   b)    12 ÷ 12 = _______   because  ______ × ______ = ______       

3.  A number divided by 10 becomes 10 times smaller. 
 

     a)     30 ÷ 10 = _______   because  ______ × ______ = ______   

    b)     80 ÷ 10 = _______   because  ______ × ______ = ______       

    c)   120 ÷ 10 = _______   because  ______ × ______ = ______       

4.    True  or  False ?   

         40 ÷ 10 means the same as 40 – 0? 

 

 

 


